FJ 45 Cab Bolt Package Manifest

To mount the back of the tub to the frame:
2- 1/2" x 8" steel bolts ~¥"
2- 1/2" steel nylocs
4-1/2" s/s flat washers
2-21/2"x 2 1/2" x 1/2" aluminum plates
2- rubber mounting pads

9-3/8" x 1" s/s bolts; 9-3/8" steel nylocs: 18-3/8" s/s flat washers:

2- to mount replacement body to existing body (door frame)
4- to bolt replacement floor pan to existing floor pan (under drivers and passengers feet
3- front of drivers and passengers seat mounts

1-3/8" x 2 1/2" s/s bolts; 1-3/8" steel nyloc; 2-3/8" s/s flat washers:
1- o mount front left of passenger’s seat. 1 3/4" length of alum. pipe is used with this bolt

8-3/8" x 6 1/2" s/s bolts; 8- 3/8" steel nylocs; 16-3/8" s/s flat washers:
To bolt back of seats and seatbelts down

To mount hardtop to cab:
10- 5/16" x 1" bolts
20- 5/16" s/s flat washers
10- 5/16" steel nylocs

To mount running boards:
14- 5/16" x 1" bolts
28- 5/16" s/s flat washers
14- 5/16" steel nylocs

Gas tank straps:
2-1/4" x 1" s/s bolts
4- 1/4" s/s flat washers
2- 1/4" steel nylocs
2-5/16" x 2 1/2" s/s boits
4-5/16" s/s flat washers
2- 5/16" steel nylocs

Bolt down tranny cover:

‘ 17-1/4" x 1" s/s bolts
34- 1/4" s/s flat washers
17- 1/4" nylocs

2 Catches for doors

1 Tube of Sikaflex

1 Pair of Running Boards

1 Tranny Cover with rubber boots
1 Video tape



